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Directions: 
Below  each  sentence,  some  phrases  are  given  which 
can substitute the bold part of the sentence. Find out 
the phrase which can correctly substitute that part of 
the  sentence.  If  the  sentence  is  correct  as  it  is,  the 
answer is ‘No correction required’ or ‘No 
improvement’. 
 
1) He was so tired that he could barely keeping his eyes 
open while driving. 
a) can bare keep 
b) can barely keep 
c) could barely keep 
d) could bear to keep 
e) No correction required 
 
2) Mrs. Madhuri has great respect and unlimited faith 
in her Director. 
a) respect and unlimited faith for 
b) respect for and unlimited faith for 
c) respect for and unlimited faith In 
d) respect in and unlimited faith for 
 
3) The boss said, “I shall look at the matter”. 
a) into  b) about 
c) in  d) No improvement 
 
4) Exercise is benevolent to good health. 
a) beneficial  b) beneficent 
c) bounteous  d) No improvement 
 
5) The active learning of adulthood is not only possible 
but infinitely and desirable. 
a) only possible but infinitely 
b) possible only if infinite 
c) only possible infinite and 
d) possible but only infinite 
e) No correction required 
 
6)  She  was  uneasy  because  she  never  be  on  a  plane 
before. 
a) had never been b) never been 

c) is never been  d) No improvement 
 
7) We are quite sure that he will have proved his merit 
in any forthcoming competition. 
a) will prove  
b) will have to prove 
c) will be prove 
d) would be proven 
e) No correction required 
 
8) Chennai is by the way a cosmopolitan city. 
a) by the by  b) by and large 
c) on the large  d) No improvement 
 
9) One of the main function of the State is maintenance 
of law and order. 
a) main functions off 
b) main functions for 
c) main functions of 
d) main function for 
e) No correction required. 
 
10)  Most  of  the  participating  members  at  the  fair, 
which was organised by the students, were 
Mathematics teachers. 
a) Mathematic teachers 
b) Mathematics teachers 
c) Teacher in mathematics 
d) No improvement 
 
11) No sooner had he entered the room when the lights 
went off and everybody began to scream. 
a) as the lights went off 
b) than the lights went off 
c) then the lights went off 
d) No improvement 
 
12) But here again, there are allegations of 
indiscriminate reclamations and acquisition to the 
farmland by the Adonis. 
a) reclamations and also acquisition by the farmland 
b) reclamation as well as acquisition of farmland 
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c) reclamation and acquisition of farmland 
d) No improvement 
 
13) More he gets, more he wants. 
a) more gets, the more 
b) the more he gets, the more 
c) the more he gets, more 
d) No improvement 
 
14)  The  highest  recorded  speed  of  shorthand  under 
championship conditions, is 300 words per minute. 
a) with    b) in 
c) for   d) No improvement 
 
15)  The majority  of  our  clients  prefer  our  new office 
timings, which are convenience for them. 
a) are convenient for 
b) is convenient to 
c) are convenience to 
d) convenience 
e) No correction required 
 
16) will enter the league of major developed nations as 
a space giant within a short time. 
a) energy  b) force 
c) power  d) No improvement 
 
17) His speech was marked by disagreement and scorn 
for his opponents position. 
a) is being marked with disagreement and scorn for his 
opponents position. 
b)  was  marked  with  disagreement  and  scorn  for  his 
opponents positions, . 
c)  was  marked  by  disagreement  and  scorn  for  this 
opponents positions. 
d) No improvement 
 
18) When you want to rent a house, you should look 
out at first. 
a) around  b) for 
c) into   d) No improvement 
 

19) When I first saw Ankit, he was playing cricket. 
a) had played  b) had been playing 
c) played  d) No improvement 
 
20) Too little is known by this time about possible side 
effects of the drug. 
a) presently  b) In the end 
c) before hand  d) No improvement 
 
21) He thanked me for what I have done for his wife. 
a) had done  b) had been done 
c) have been done d) No improvement 
 
22) Search for and collect anything usable from 
discarded waste 
a) Scavenge  b) Disperse 
c) Dissipate  d) Scatter 
 
23) We have no less than a thousand students in our 
College. 
a) not less  b) no less 
c) no fewer  d) No improvement 
 
24) Can this machine be adopted in farm work. 
a) by   b) into 
c) for   d) No improvement 
 
25) I had a few eggs in the fridge, so we need to go to 
the market to buy them. 
a) a little  b) few 
c) little    d) No improvement 
 
26) Overexploitation of ground water has lead to levels 
falling drastically and cause draughts. 
a) was being led to levels fell drastically 
b) has lead to drastically falling levels 
c) was leading levels to be fallen drastically 
d) has been led to levels falling drastically 
e) No correction required 
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27) Showing strong feeling 
a) Meek  b) Vehement 
c) Apathetic  d) Impotent 
 
28)  Why  does  he  worry  over  petty  matters  is  not 
known. 
a) should he be worry b) he does worry 
c) he did worry   d) he worries 
e) No correction required 
 
29) When he left the house, it has not ceased raining. 
a) until    b) ever before 
c) ever since  d) No improvement 
 
30) God has bestowed man unusual gifts. 
a) bestowed with man b) bestowed for man 
c) bestowed on man d) No improvement 
 
31)  The  organizers  agreed  to  shift  the  conference  at 
some place convenience to all participants. 
a) from a place of convenience 
b) any of the place convenient 
c) at places convenient 
d) to a place convenient 
e) No correction required 
 
32) Whistle in the dark 
a) Pretend to be unafraid 
b) A ray of hope in the worst of times 
c) See a ghost while dreaming 
d) Be blind and fall into a trap 
 
33) Let us go see her new house, shall we? 
a) do we ?  b) Don’t we ? 
c) do they ?  d) No improvement 
 
34) Public health facilities are more scarce since 
patients have to wait for hours to see a doctor. 
a) quite scarce that 
b) so scarce that 
c) very scarce because 
d) too scarce for 

e) No correction required 
 
35) Birds sit on the boughs of trees In my garden and 
with their sweet notes fill the air with music. 
a) fill their sweet notes in the air 
b) by their sweet notes All the air 
c) fill the air by their sweet notes 
d) No improvement 
 
36) I should has to be with them tonight. 
a) has been  b) have been 
c) been   d) No improvement 
 
37) He claimed that he was senior than me. 
a) senior to  b) senior over 
c) senior by  d) No improvement 
 
38)  Leaders  enable  a  group  by  Imagining  and  create 
future which will fulfill the group purpose. 
a) to imagining creativity 
b) to imagine and create 
c) to Imagine and by create 
d) by imagining to create 
e) No correction required 
 
39) Americans do not object my calling them by their 
first names. 
a) my calling the b) to my calling them 
c) been called  d) No Improvement 
 
40)  Banks must  be  ensured  that  18  per cent of  their 
loans is given to the agricultural sector. 
a) being ensured b) are ensured 
c) have to ensure d) should be ensured 
e) No correction required 
 
41) It is a three years degree course. 
a) an three years degree course 
b) a three-year degree course 
c) a three years degree course 
d) No improvement 
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42) If you should need my help, please feel free to tell 
me. 
a) In Case you felt need 
b) Should you need 
c) If you would need 
d) If you are in need for 
e) No correction required 
 
43) All the newcomers enjoyed at the welcome party. 
a) enjoyed thoroughly at 
b) enjoyed themselves at 
c) enjoyed in 
d) No improvement 
 
44) The crowd which has gather to protest against the 
decision slowly returned to their homes. 
a) Gathering up 
b) Which had gathered 
c) Which have gather 
d) Which gathers around 
e) No correction required 
 
45) Over fifty per cent of people in the country not have 
any access to banking services. 
a) does not have do not have any 
b) have not any 
c) are having not 
d) do not have any 
e) No correction required 
 
46) It is difficult to work with him because he is One of 
those persons who think he is always right. 
a) always think his 
b) is always thinking they are 
c) always thinks he is 
d) think they are always 
e) No correction required 
 
47) The yoga session is most likelihood to start at 6.00 
a.m. 
a) is most likely to start at 
b) is mostly like to starting at 

c) is mostly liked to start at 
d) be most likely started by 
e) No correction required 
 
48) He had a good sleep after he has had a heavy lunch. 
a) had had a heavy lunch 
b) had a heavy lunch 
c) had been taking a heavy lunch 
d) No improvement 
 
49) What are you looking upon in the dark? 
a) for   b) over 
c) after    d) No improvement 
 
50)  If  you  want  to  save  money  you  must  get  rid  of 
shopping 
a) cut down on   b) Get on with 
c) Put up with  d) No improvement 
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